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1.

Within 10 minutes of the issue of the Question Booklet, check the Question Booklet 1o ensure that it
contains all the pages in correct sequence and that no page/question is missing, [n case of faulty
Question Booklet bring it to the notice of the Superintendent/] nvigilators immediatety to abtain a

- fresh Question Booklet.

.

e

10.

11.

11.
13.
14.

Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its emvelope.

. A separate Arswer Sheet is given. It should not be folded or mutilated. A second Answer Sheet

skhall not be provided. Only the Answer Sheet will be evaluated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space prvided above.
On the froni page of the Answer Sheet, write by pen your Roll Number in the space provided at
the top and by darkening the circies at the boitom. Alsa, wherever applicable, write the Question
Booklet Number and the Sei Number in appropriate places.

No overwriting is alfowed in the entries of Roll No., Question Booklet no. and Set no, (i any)
on OMR sheef and Roll No. and OMR sheel no. on the Quesion Bookiet.

Any change in the aforesaid eniries & to be verified by the invigHator, otherwise it will be taken
as unfairmeans. ;

Eack question in this Booklet is followed by four alternative angwers. For each griestion, you
are to record the correct option on the Answer Sheet by darkenigg the uppropriare circle inm the
corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the
[first page of the Answer Sheet.

For each question, darken only one circle on the Answer Sheet. | you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be chanfed If you do not wish o aitempt a
question, feave all the circles in the corresponding row blank fsuch question will be awarded
zern marks). ;

For rough work, use the inner back page of the title cover and the blank page at the end of this
Book et ;

Deposit only OMR Answer Sheet at the end of the Test.

You are not permitted to leave the Examination Hall until the end of the Test.

1 a candidate stiospts to gse any form of unfair means, Wmh paisheent as

the Umms#wm-n and impose on himher. :
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14U/ 102/26(iii)
No. q{ Qullsltinnl : 200
a3 dEn 200

Time : 2 Hours - Full Marks : 300
a9y : 3 JU2 : qury : 300

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zaro mark will be awarded for each unattempted

question.
sferfs Swt @ &t A B OTT F | IQw 537 3 (@)
éﬁm%nﬁwmaﬁr%mwwﬁwm;
g STIAIR ¥ B A G BT |

(2) 1f more than one alternative answers seem o be approximate to
the correct answer, choose the closest one.

uﬁwﬁﬁafﬁ%ﬁwnﬁw%ﬁﬂﬁmﬁﬂﬁ,ﬁﬁmaﬂ
gl I &

(3) This paper comprises of Five Sections. Bections I and II are
compulsory whereas only one Section out of I, IV and V is to

be attempted.
ﬁnmﬁﬂmﬁm%mlqﬁuaﬁﬂ%mﬁ%

m, vy v ¥ Prft o @ I9C W B

3 P.T.0.
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Bection -1
L o SR |
Mental Ability
(Compulsory for all)

01. Which number would replace question mark in the series

Foft & gy R @ w97 W o g
7,12, 19, ?, 39. |
(1) 29 (2) 28 (3) 26 4 24

02. Spot the stranger in the following -
(1} Rose o (2] Marigold
(3) Lily (4) Lotus

ﬁﬁ%ﬁﬁ%m@mﬂmﬁgﬁﬁ%ﬁﬁ%ﬁ% ar
AT R ?

(1) Tomg 2) #fries  (3) Ret (4)  FRY
03. Which city out of the following is known as the c1ty of Lakes and

Mountains ?

(1) Jaipur ) (2) Haridwar -

{3) Bhopal {4) Lucknow

ﬁﬁﬁrﬁaﬁﬂﬁﬂamﬂmmtﬁﬁmﬁrmmmm
TR AT R ?

(1) =AY (2) =fE (3] w9 (4) T=TH
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Who is the cricket player of Ifidia who has received the first Bharat
Ratna dunng the year 20147

(1) Dhyanchand e L) M.S. Dhooni

i
*

-

(3) Sachin Tendulkar "{4) Virat Kohli

Prevffee & & sraad & B @ Bede Reerdt & Praa 2014 8
29 &l Y& WA~ i e ? _

(1) &= =% 2) ##= fae 90

(3) @it AT (4) RO wied

Which one of the following animals is vegetarian ?

(1) Wolf " [2) Rabbit

(3) Fox - ' (4) Wild bear

frefrfger o @ 9 91 Ou AET & o RF aeeedr B 7

(1) W () woetw (3 WA (4) ST W

. Find the odd one :

INH T
(1} EDCBA (2) ° PONML (3) UTSRQ - {4} YXWVZ

At what time between 7 and 8 o'clock will the hands of a clock be in
the same straight-line but not together 7

s 2
{1) 5 minute passed 7 (2) Eﬁ rmnutea passed 7
' 3 . 5
(33 237 minutes passed 7 | [4] g'ﬁ minutes pamd 7



14U/ 102/ 26(1ii)

08,

10.

e gl udl § 73R a9 B i § e ana gEEl oF @ wee
7 erlt Afe o =€t ?

() 7&F | sfme O (2) Ta@rﬁslz—lﬁqa*m

3 79N S%Flﬁzana (4) ?aﬁﬁﬁ%ﬁﬂ?'ﬂm

Choose the numbers which is different from others in the group :

TE § AT g it g
(1) 751 (2) 734 (3} 981 (4) 853

——

Choose the number which is different from others in the group :

q9E 4 o Her A g
(1) 12 (2) 25 (3) 37 “) 49

e —

The difference between the interest received from two banks on Rs.500

for 2 years is Rs. 2.50, then the dificrence between their rates is :
(1 1% (2) 0.50% (3) 2.50% (4} 0.25%

A A IH A AR =T @ T 29 H 500 B T 2.50 YA
B N 37 A T B = o B e A

(1) 1 gferere (2} 0.50 gferer

(3] 2.50 Ffaeg (4) 0.25.!:[1?[3??1'



11.

13.

13.
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If 5 men, working for 6 hours a day can reap a field in 20 days, then
in how many days, will 15 men reap the field ? The hours of the day
may be taken as 8 hours :

{1) 5days (2) 6days (3) ?% days (4) 9 days

T S H1FT T QT # T 6 =5 afdfRe w3, 20 fem1 ¥ @A Fred
L 3 alsqﬁaaﬁaﬁaﬁrﬁﬁ%ﬁﬂﬁﬁﬁ v wE RS # 8
He & 99T A 7

(1) sR= (2) o= (3) ?%ﬁ? 4) 9

In an examination, 35% of the students passed and 455 failed. How

many students appeared for the examination ?

t&ﬁmﬂ,%uﬁmmwym%s%ﬁrgﬁﬁqﬂwﬂ
PR B A g & 7
(1] 490 (2) 700 (3) 845 4] 1300

i one-third of water tank holds 80 litres of water, then the quantity of
water that can be held in haif-full tank will be :

(1) !;i litres (2} 100 litres (3) 120 litres (4) 240 litres

o i A 2 o P R W g ¥, 80 ey Ot T

teﬁmﬁtqﬂgaﬁﬁ?ﬂmmﬁmm%?
50

1 = WRT. (2 100 &t (3) moa?m (4) 2405?_!21

3

7 :_ﬁ.n.
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14,

15.

16.

17.

The area of largest triangle that can be inscribed in a semicircle of
radius "r" is :
(1) 2rem? (2) r?cm? (3) 8rem? (4} 2 arcm?

TF TR T8 PR F S S 6y s @ s
AL FEAMT ™7 W, B

(1) 2r T o | (2) g% o

(3) 8r Tt Aflo (4) 2ar 7 o

A train which is 700 m long, is running at the speed of 72 km per
hour. I it crosses a tunnel in 1 minute, then the length of the tunne!
in meters is ;

(1] 700 m. (2) 600m. (3] 550m. (4) 500 m.

e YTt Rraad = 700 dey §, 72 Phenfer oy g 9 iy
ﬁﬂatﬁﬁ?slwmﬂﬁﬁrﬁwaﬂlﬁﬁﬁﬁmm%a
g Fit e Hee & EFf 1

() 7003fT  (2) 600WET (3) ssOHflRYT (4] 500 HEY

‘The ratio of number of boys and girls in a school of 720 students is
7 15, then how many more girls should be admitted to make the ratic
as1:17?

?zuﬁmﬁﬁaﬁﬁ%mmﬂmﬁwmmaﬁqﬁ
7:58, ?ﬁwﬂﬂmﬁﬂl I 9 % 3 fraet ot wsfosat
AT anEvTE 2

(1) 90 . (2) 120 (3) 220 (4) 240

Il the perimeter of a rectangle is 82 m and the area is 400 m?, the
breadth of rectangle is :

(1] 25m. (2) 16 m. (3) 9m, 4) 20 m.



18.

19,

20.

14U/ 102/ 36411i)

qaammaaﬁraﬁiﬁﬁ(qﬁm)azrﬂﬂ%_aﬁtmaﬂmmn
ey 3, @ smaa @ e @

(1) 25%HET (2 16 AEeT (3) 9 #HIET (4) 20X

The sum of two numbers is 80. If the larger number exceeds four

times the smaller one by 5, then the smaller number is :
mtﬂﬂﬁmﬂwﬁvm%,ﬁma@mﬁﬁﬁw,@ﬁﬁwaﬁ
aﬁyﬂaﬁm%,ﬁréﬁﬁw@vﬁ:

{1 5 (2) 15 (3) 20 4) 25°

A and B are brothers. C and [t are sisters. A's son is ['s brother. How

is B related to C ?

(1) Father (2) Brother

{3) Grandfather (4) Uncle
Aaﬁtsﬁﬂﬁ’%lcaﬂTDaﬁaﬁ%mmmnmmﬁ
% @ B i C & Ry = B

(1) foew (2) ¢ (3) T=T (4) =

Sunita ranked 11" from the top and 27 from the bottom in a ¢lass.
How many students are there in the class ?

mmﬂ@ﬁﬁn%ww%aﬂ?ﬁ%ﬁzﬂw
qw-%,ﬁrmmﬁﬁﬁﬁmtﬁ%?
m 8 . @ 28 (3) 40 (4) 37

9 P.T.O.
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21.

22,

23.

24.

25.

Find the missing number (?) in the following figure :

ﬁqﬁf@aﬁaﬁgﬁ(?)maﬁmﬂ%ﬁq

D B E

(1) (2) 36 i4) 81

ldentify a wrong number in the following series -

ﬁnﬁm%ﬁwmﬁ%ﬁqvﬁﬁsﬂm%

7.28, 63, 124, 215, 342, 511 |
(1) 7 20 28 ' (31 124 {4) 21s.

Find out the missing number in the following :

ﬁf‘ﬂ%@ﬁﬁaﬂmaﬁﬂﬁﬁﬁﬁﬁiﬁaﬁﬁl
9:80:7: ... o
(1} 48 {2) so (3) 78 (4) 82

Choose the group of letters which is different from others :

ﬁﬁﬁ@ﬁﬁﬁmmaﬁ%gﬁwaﬂaaﬁﬁ}%mﬁﬁm
(1) ABD (2) HIK 3) VWZ . (4 oORT

If GIVE is coded as 5137 and BAT is coded as 924, then GATE -iﬁ
coded as : '

X GIVE = @z fpay 8, 51 .
8, 924, & GATE =t aﬁgm G“_?":i%?\}ﬁ'{' AN o BN Sy

(1) 5427 (2) 2547 (3) 5247 (4] 5724

10



26.

27.

28.

29.

14U 102]26{111)

Section - I
v -1
Chemistry

l(‘:m‘,upuhory for all)

A metal nitrate reacts with KI to give a black precipitate which on
addition of excess of KI converts to orange colour solution. The cation
of the metal nitrate1s @

mgwmﬁmmmmmammﬁ
= ﬁwww-ﬁwmm%nma@zaﬂw

(1) Hg* (2) Pb* 3) . 4) B

The two forms of D-glucopytranose obtained from the solution of D-
glucose are called :

(1] enantiomers (2) ¢piﬁ'1ers (3) anomers (4) isomers

gﬁ@%ﬁmﬁn-W%aﬂ%aﬁﬁaﬂﬁ:
(1) sfafem=s =9 (2) e (3) TAHE (4) A

The compound that 18 most reactive towards nitration is
(1) toluene (2) benzene (3) benzoic acid (4] nitrobenzene

A 1 ERa @ R gafftes @by B
(1) g () %ﬁﬁh (3) ¥FmEs ufEE (4) AR

Kolbe's tlECt]’ﬂlj'SiS of Iﬁotassium 'succinate gives !
(1) CO, and cthane (2) €O, and ethene
(3) CO, and methane . ) (4) CO, only

11 | ¥ir.0.
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30.

31.

33.

33.

An enantiomerically pure acid is tregted with a racemic mixture of an
alcohol having one chiral carbon. The ester formed will be :

(1} an optically active mixture (2) a pure enantiomer
(3) amesocompound (4) & racemic mixture

' =gt 3 Wl iy fora3
TR T T 320 e (et s e
(1) T wzfives wftey frsor (2) um gfoférg =g
(3) u= gy fftrer (4) O fiy soy

Which of the following cempounds is oxidised to prepare methyl ethyi
ketone ?

{1) 2-propanol . (2) 1-butancl

{3} 2-butanol ' (4) tert-butyl alcohol
ﬁﬂﬁﬁ;ﬂﬁm%aﬂaﬁmﬁﬂﬁﬁmﬁﬁ%mﬂm%?
(1) 2-9=teT (2) 1-=341e |

(3) 2-s2ty {4) qsﬁuaa—qfaﬁ UShHIE

Benzene diazonium chloride reacts with phenol in a weak basic
medium to give : _

(1) diphenyl ether (2} p-hydroxy azobenzene

(3] chlorpbenzene {4) benzene

ﬂﬁa"ﬁﬂﬂmﬁﬁﬁ'ﬂwmiﬁmﬁfaﬂrﬁﬁfﬁﬁ
wﬂwﬁ%?ﬁmﬁm%: . Shl L
(1) TEPFRT dae (2) AT-EwmEIR o=

(3) TRTE {4) afs

The reaction of toluene with chlorine in the presence of ferric chloride
Elves predominantly :

{1) benzoyl chloride (2) m-chlorotoluene
(3) benzyl chloride 4) ©Q and p-chlorotoluene

12
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g FIFET (Tolue ﬁmﬂ%ﬁﬂﬂﬁwﬁﬁ?ﬁwiﬁ
aqﬁqfaﬁamﬁgﬂﬁtngwm%

(1) FSiET FAIUES L (2) ReT-anietgEa

(3) AT TS 4y oifdt sir Y-
1-Chiorobutane on reaction with alcoholic potash gives :

(i) 1-butene (2) 2-butene

(3) 1-butanel (4] 2-butancl
1-@%%&1%%#@%%%:
(1) 1522 - @ 2-5ge

{3) 1= ' (4) 2-sge-teT

Among the following which onc is the most basic ?

{1} Aniline (2) . Benzylamine

(3) P-nitroaniline (4) Acetanilide

T q P g i d o

(1) afriH (2) A ATEA

(@) g dafAe (4) CREAIES

The complex ion which has no d-electrons in the central atom is :

ﬂ@ﬁaﬂﬂﬂwmm@ﬁ@éd A A B
(1) MnO; (2) Fe(CN)}

R @ Cotmy);

13 PX.0.
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: ’ i
37. {NH)), Cr, O, gives on heating a gas which is also given by :

(NH,) Cr, 0, ™ & T & e Pricren 8, 7@ N Free B
(1) NH, NO, - (2) NH, NO,
(3) Mg,N, + HO (4} Na metal + H,O

38. Native silver metal forms a water soluble complex with a dilute solution
of NaCN in water in the presence of -

(1) argon (2} carbon dioxide

(3] nitrogen (4) oxygen

wwﬁmﬁqﬁ?mgﬂgmm%ﬁrw(mﬁﬁ)%mﬁawﬁmaﬁ
Surfer F o # Freaef e e e B

(1} o (2) w3 olfaws

39. The number of Lone pair (s) in XeF, is :

XrFqﬁmﬁﬂE@ﬂq?ﬁﬁﬁ@T%:‘
(1) 1 (2) 2 B¢ 3 4) 4

40. A positron is emitted from ««Na®. The ratio of-the atomic mass and
atomic number of the resulting nuclide is :

 Na® ﬁﬁmﬁwli;.wmﬁmﬂmmw
TYATY HHIEH B AHAR B

22 22 23 23
ST I TR @

14



41.

41,

43.
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A monoatomic gas undergoes a process in which the ratio of P to ¥ at.
any instant is constant and equals 1. What is the molar heat capacity
of the gas ? :

Qﬂsmﬁﬁnﬁw'%ﬂﬁé}mgﬁﬁ%]m;mm

- 3R 4R SR
(1) o e 5

For a first order reaction :
A — products
|A] changes from 0.1 M to 0.025 M in 40 mins. The rate of the reaction

where [A] = 0.01 M is :

gaw Hfe o sfafEn $ [,
Aa_m-_ o

T [A] 40 ﬁ'at'ﬂu._mﬁn.nzsmaaﬁqﬁaﬁﬁém%,%ﬁmﬁm
& @ 919 [A] = 0.01M Eft : -

(1) 6.94 x 10~ M min™' (@) 1.73 % 10°° M min’!
(3) 3.47 x 10°° M min"! . (4) 3.47 x 10 M min”

During depression in freezing point in a solution, in equilibrium are:
(1} liquid solvent and solid solvent

(2) liquid solvent and.solid solute

{3) Hquid solute and solid solute

(4] lquid solute and solid solvent
mﬁwﬂﬁﬁaﬂﬂ%mﬁfﬁﬁaﬁﬁm,m:

(1) =7 Fomas aen 319 faama®

(2) 77 g @ 3| ey

(3) 7w @ @ S Ry

4) v . ooy Sre R

15 P.T.O.
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44,

45,

47.

Which one among the foltowing is diprotic ?

=9 A FrA-a1 ffere 2 2
(1) HJ F'{}n2 (2) Ha P{)3 {3) H;. P'li:-4 {4} H;l BDS

The pH of 10% M solution of !-H’J]l::.'n4 in water is :

(1) between 6 and 7 {2} between 7 and 8

(3) 8 (4) between 8 and 9

e & 10° M HCIO, % fawas @1 PH ar

{1} 6Tar 7% g # (2) 7T 8 F fwr H

(3) 8 (4) 891 9 &g 7

When two reactants A and B are mixed to produce C and D, the
reaction quotient (Q} in the beginning of the reaction is -

(1) Zero : {2) decreases with time

(3) remains unchanged with time (4} increases with time

mﬁaﬂWAaﬂTBﬁaﬁ%ﬁrcaﬁ?Dmﬁ.aﬁm
%mﬂaﬁﬁﬁmm{@w:

(1) g (2) 9 B "y w2
[3}m%ﬂmawﬁaﬁa@m[4jm%w@n

Equal weights of methane and OXygen are mixed in an empty vessel
at 298 K. The fraction of the total pressure exerted by methane is -

Qm@sﬁaﬂqﬂzgsxﬁmwﬂ%amamﬂﬂmq%WﬂR
ﬁfﬁah&ﬂﬂﬁ%nﬁrmﬂﬁaﬁéwaﬁrﬂmm:

5 @ 3 @ 3 )

B

16
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49,
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Bohr's model explains :

(1) the spectrum of hydrogen atom only

(2} the spectrum of an atom or an ion containing one electron only
(3) the spectrum of a hydrogen molecule

(4} the solar spectrum

A &1 HISH AT FET 8

(1) #a9 Hatom & oA @

2) B K qoaep W ol @ @ o R a0 R &
(3) BTEERTT o1 B WRH N

(4) g4 B W B

In the titration of Na,CO, by HCI using methyl orange indicator, the
volume required at the equivalence peint will be if that of the acid
required using phenolphthalein indicator is 10.0 m! :

(1} . 5.0 ml. (2) 10.0mlL (3] 15.0mi (4) 20.0 ml.

Na, Co, & HCLERr SIgAIes ot &, orefs Aft o1 g &,
mmmﬁwgaﬁﬂgw,qﬁﬁmﬁﬂwﬁﬁﬂw
7T 10 ml. GaS e ¥, #nf o

(1) 5.0fodo (2) 10.0othe
(3} 15.0Fotllo (4) 20.0fHorlo

The total number of electrons present in 18 ml of water is :
18 fvetfio w17 & o wREEAt A Hoar ¥

(1) 3.346 ¥ 109 (2) 6.023 x 107

(3 &023 x 107 (4) 10.841 x 10

17 ; B % XX
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51.

532,

53.

Section - III
.qg - 1

Physics and Mathematics
{Physics)

E, m, 1 and G denotes energy, mass, angular momentum and

gravitational constant res_pectively, El*/ (m® G? has the dimensions of :
(1) Ampere (2) Mass (3) Length (4) Angle
T, W, PG FAT T QoA s B9 E, m, | a9 G
aZrT sl 8 ar, EP/ (m° GY) R dmm-

(1) =R (2) == (3) <P (4)  THroT

In a clockwise system : which one is correct ?

afaromerd Fram # A wd ¥ 7

(1) jxk=i (2 ixi=0  (3) jxjszo (4) ixix0

If the torque of the rotational motion about the given axis is zero then
the constant quantity about the same axis is

(1) Torque . ' (2) Angular momentum
(3] Inertia (4} Moment at (nertia
ﬂﬁﬁﬂﬁw%mwmaﬁwa@m{maﬁr |
I T K 9O e Rac R 7

{1} weT-amepet (2) =i g3
(3) o= (@) Iz ot

18



14U/102/26(ili)

854. The height of water fall is 50m. Calculate the difference temperature

56.

3)

of water at the top and bottom at the fall.
[J=4.2 x 107 erg/cal and g = 9.8m/sec’}

U A9 YO @ FaE 50 #eT 81 gua & i qur qaedt @ 9™
e B arg # FA=IE W IO FRET )

[J = 4.2 x 107 37 /B 97X g - 9.8 #/&7

(1) At =0.4351°C (2) At =0.3125C

{3) A= 0.1167°C (4) At =0.0167°C

A man weighting 75kg lift a body of 25kg to the hight of 10 meter in 5
minutes. His power is :

(1} 7.33 J/sec (2) 8.33 Jfsec

(3) 9.33 J/sec (4) 10.33 J/sec

25 REm e & W% s 25 R P A T 10 AieT HEE
gz 5 e & qfwar &) sEh afR 2-

(1) 7.335</8o (2) 8.333% /"o

(3) 9.33F/9o (4) 10.33 9<1/Ho

A sphere of mass 'm’ moving with velocity "W hits anather stationary

sphere of same mass. If ‘¢’ is the coefficient of restitution what is the
ratio of velocities of two spheres after the collision ?

' BEET B UH w3 § TRME e @ G %O S
Rer MR & TaaT B 1 ot Redigam 1oits e & & 24 & W%
Tt Wt B g @ TR F BrT-

_.z[tc;]’ 1[1_]
¥V, \l+e (2) , o\ e

v, \1<) @ v, li+e

19

(1)

»§.0.
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57.

58.

39.

If tinear momentum of a body is increased by 50%, its K.E. will be
increased by :

gﬁﬁ%%ﬁﬂﬁaﬂﬁmw@aﬁqﬁﬁm%ﬁmmwﬁ
(1) 50% (2) 100% (3} 125% (4) 150%

A simple harmonic motion has amplitude 'A’ and time period "T'. The
maximum velocity will be :

U G HERT I B0 999 ST A 99T ST &1 T & ar

_ofiERas @7 @b ]

(1) 4AT 2) = (3) 2nJAT (4) 2mA/T

A particle moves such that its acceleration 'a’ is :givcn by a = -bx. The
period of oscillation is :

T% TRET FHoT H @07 ‘2’ Rar @ 7€l a = -bx 1 391 orda &
EEI"TT:

(1) 2xJb (2)  2x/Jb (3) 2a/b (4) f2xib

A block of wood floats in water with two-third of its volume submerged.
In o1l the block floats with 0.90 of its volume submerged. What will be
the density of wood? {0 = 10% kg/m?

{1} 334 kg/m? {(2) 445 kg/m?*

(3) 556 kg/m?’ (4) 667 kg/m?

U TS BT ot & Z¥- INGAT A= B awar & 3
%Wo.gmgﬁmw%hmwg?ﬂwﬁln?

[ £,= 10° RRmt/dn)
(1) 334 Prgy/p (2) 445 R e
(31 556 fpam/+p - (4) 667 Rem/Hr

20
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$2.

63.

14U /102 /26(iil)

A gale blows over a house. The force du:e to gale on the roof is :
(1] Dowmward (2) Upward (3) Horizental (4) Zero

o A9 I X B FR @ T @ 2| o B HROT qFT B v
qT & o |

L) R e (2) H9T H AT

(3) AT JgEn H (4) =

What is the bulk modulus of water it its volurne changes from 100
litre to 99.5 litre under a pressure of 100 atmosphere ?

(1) 2.026 x 10° N/m? (2) 4.086 x 10° N/m?

(3) 6.861 x 10° N/m? (4) 7.861 x 10° N/m?

qrit T AT SR IO #9181, ST 100 FEX ST 100
g S T 9% 99.5 ey H afiafds & s B ?

(1) 2.026 x 10° =g/ (2) 4.086 x 10° /|1

(3] 6.861 x 10° e/ /4P (4) 7.861 x 107 TA/AP

An observer standing at sea coast observes 54 waves reading the coast
per minute. If the wavelength of the wave is 10m-What is the velocity
of wave ? :

(1) 9 m/sec (2) 10m/sec (3) 12 m/sec {4} 16 m/sec
UF % % R @er SuE 9o B # 54 al @l T e
%) ot geded 10 deT & Y a7 B0 AT gy Ehw P

(1) 9dlo/qc (2) 10Hl0/8o(3) 12Wlo/8o (4) 16¥lo/Ho

What is the maximum possible sound fevel in dB of sound wave in
air? If p,. = 1.3 kg/m?3, v=332 m/secand P =101 10% N/fmé?,

arg & iR @ W WX dB 7 & &m 7 AR p, - 1.3 B/
P, v =332 ;’ftu;ﬁ?mw 1.01 % 10° =EF/HP, |
(1) 100dB '{2) 150dB (3) 190dB. " (4 $00dB,

21 gry 3
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635.

66.

One litre glass flask contains some mercury. It is found that at different
temperatures the volume of air inside the flask remains the same.

What is the volume of mercury in this flask ? If coefficient of linear
expansion of glass is 9 x 10%/°C while of the volume expansion of
mercury is 1.8 = 107 /°C.

oE el & W9 P weRE d {E Al 2 9% 9 T &
S-S AIHT U FAEeh B =L A I AT TH & 8 |
TR 1 ATAEE F B AR @ ot} 7 dafk 9 @ e gan
TR 9x1075/°C X AT FAR o 1.8 < 104/°C &)

(1) 3Ccc {2) 75cc (3) 100 cc (4) 150cc

Two plates each of area A, thickness L, and L, and thermal
conductivities K, and K, respectively are joined to them to form a
single plate of thickness (L, + L ). If the temperatures of the free
surfaces are T, and T, what is temperature of interface ?

g QA Pt o@s @ SEwa AR, drerd e L, o me areean
K, 9 K, 8, & SBHT (L, + L,) ATE A O I F9191 IR0 B ) iR
A gt & argdE T, a9 T, 8 @ SHAHs. s araHe 41 007

ke i

(1) [h i Ly (2) Ly o]
K, K, K, K,

L L i. L

g e
(3) {1., . L_;,_} (4) P"* L,
K, K, K, K,

22
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67. The variation of the volume with pressure of a fixed amount of gas

68.

has been shown. The change in internal energy of the gas will be
shown by :

fa% gu Paa s @ W @ " g sigae @ g @ aiges

Fam T 21 A & ot Tt f ufedw s g gt
T ?

() @) %{
—
o .
@ | &7 @ | 4

¥ — 3V

A glass prism of refractive index 1.5 is immersed in water (p =4/3). A
light beam incident normally on the face AB is totally reflected to
reach the face BC if :

1.5 ot & 9 = ENﬂ'qFﬁ G 4/3 21
oo A8 AB 9T FRIET Sl [5 féﬁggﬁﬁaggimﬁﬂﬁ
¥dE BC WX UEA AR S

- [
TR
T 2 e B 2 3
(1) 15313}; -..;2] -jbsmﬂ:r-g— (3) 53"955 (4) Cos8 2 5

23 | . B.T.0.
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9. Light is incident normally on a diffraction grating through which the
first order diffraction is seen at 32°. The second order diffraction will

be seen at :
(1) 48° : (2) 64°
(3) 60 : (4) No diffraction

o A et @ wue %9 @ @das, 320 91 Rdes 3fe @ g
e AT ®F 97 srer wrer X Rref @ e faendw e

(1) 48° (2) 64°
(3) 60° - 4) m Rdas Tkt

70. The resistance R of a conductor varies with temperature as shown in
figure. If it is written as R =R, (1+at + M + &t"):

4 Resistance

a
L

Temperature

{1) a8 P are positive but § negative
{2) o is poaitive p & § are negative
(3) u,p & 3 are positive

(4} a,B & § are negative

24
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wwm%w%@aWWﬁw%
af s R RE ST R, = R,(1+at+ U+t a

E

yferte

'

am™

(1) o TET p TATHSE, § FOTHE &N
(2) o G, p A 5 TUTREE B
(3) qo.p AT § TAAS BT
(4) o,p T § FONE B

71. In acopper volta meter containing copper sulphate solution, a current
of 1 ampere is passed for 1 hour. Taking the E.C.E. of copper as
0.000329gm/coul, the weight of copper deposited is approximately.

1] 0.6gm _ (2) 1.2gm

(3] 0.12gm (4] 0.0329gm
aﬁ%ﬁw@ﬁwﬂﬁmﬁaﬂﬂw%lq@?aﬁ
{1l lﬁﬁﬁﬂmﬁﬁﬁlﬁa%lﬂﬁﬂén o Fo 0.000329
mx@mﬁgﬂﬁmmmﬁmﬁvm

(1} 06 WMo (2) 12 Fe (3 01230 4} 0.0329 WMo

?3. Curie temperature of Iron is that temperature below which it is :
(1) Ferromagnetic (2) Electrically conductive
(3 - Buperconducting (4) -Radioactive

25 ' P.T.O.
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73.

74,

T8.

R @ R g aEe gw g 2 R f1Y 9 s

(1) heg=eFig (2) Hegda ams
31 = 4) IequiEg

The wavelength of K, in X-rays produced by an X-ray tube is 0.76" A.
What is the atomic number of the anode material at the tube ?

x-ﬁﬂwﬁwmmkua#ﬁﬁaﬁrmu?am%mﬁm%
U gRre & qET] HEar & 2 |
(1) 10 (2) 20 (3} 30 (4) 40

Calculate the mass in grams of a radioactive sample Pb¥!* having an
activity of one microcurie and half-life of 26.8 minutes.

%I%&}qﬁeaﬁnm.%m%mma%mﬁwﬂ%ﬁqﬁmzﬁ
HIERI O AR T srdomy 26.8 fire B

(1) 3.05 x 10-° gm (2) 3.05 x 10" gm
(3) 4 %105 gm (4) 4.5 x 107 gm

A semi-conductor has an electron concentration of 4.5 x 10! m2 and
4 hold concentration of 5.0x 102 m*. Calculate its conductiyity. Given
Be =0.135m? vis?, . =0.048 m? vis! :

Q% s A gRiaE Y Wy 4.5 x 100 o T B S qrgar
5.0x10%A3 ) IEht Svememar B o AR | Ry & p, =0.135
W2 dee 1@, = 0.048 M2 g g

(1} 3.8x 10? sm! {2} 1.6 am
{3) 3.84 sm! (4) 6.84 sm?

26
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(Mathematics)

If a function f : [0, 2] - IR, where |Ris the set of all real numbers, is
defined by

S =(2-x°)" . vxe[0,2]

then (f o ) {x) is equal to :
[ 2 (2) x (3) 10 4 2"

af wd BE £ [0, 2] 5 R, TE IR EH aTEiae HEASH H HI=H
g,

F0=(2-2°)" ,vxel0.2]

oA B, @ (fof) () TET & -
(1 2 (2) = 3y 107 (4} 2%

s+ x + 1 =0 then the value of

2 3
i) e
x X X

Zlﬁ'x2+x+l-0%?.ﬁ

L 1Y 1Y
(Aot ] o
X x X

(1) 2 2) 4 (3} 8 (4 O

2‘7 : P.T.O.
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78.

80.

B1,

r o

1+2i+3i"+jf ‘ 1
The value of 1-2it3;7 ‘.wherei= J7 is;:

| +2i + 3i°

Tooiss H T i= T, @ oA R

(1) 1+i (2) 1 (3) = (4} ©

= 1Y P S
a x=3(1) o y-3(1) v X3
1 3 . ; 4
M 3 2 3 3 3 @ 3
If *c,, = "¢, then the value of oy I8
ﬂﬁ“c,,f‘c.t'?‘ﬂ' "¢, A HF % 7
() 20 (2) 21 (3) 22 (4) 23

] H
The value of the term independent of x in the expansion of ( X+ "?J

X
15
(1 e, e T
(3] e, (4] none of these

28
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[x+$]n%n‘ﬂﬁfﬁxﬁﬁﬁ=ﬂﬂﬂﬂﬂﬁ%:

(1) e, : 2 e,

@ e 4) TAd @ B

- Hj ;
83. ;;;;-22 is equal to :

{1] 2e 2} ©
3] e _ (4} none of these

@{rk] =y ¥

(1) 2¢ . 2y 0O
(3) e ' (4) =T Frg T8
83. The rank of the matrix is :
IR & FHife . 3
1 210
21 2 0
ﬁg
2 210
1 210
1y 3 @ 2 (3) 1 4) 4

29 - IT.0.
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B4. Ifx, y,zarein Arithmetic Progression then the value of the determinant

is :
af% x,y,z AR AR F ¥ & |reoly @ oww 2 -
3 4 1+2x
4 5 1+2y
5 6 1+2z
o @ 1 3) 2 (4) x+y+z
85. The angle between two curves represented by 2x? + Sxy + 3y? + 6x +
Ty +4=0i{s;:
) )
(1} tan 1 (2} tan 5
1
(3] tan'|3 (4) none of these

2x* + 5xy + 3y? + 6x + Ty + 4 = 0 ZRT Wefdfa = aal & A T Froy
g |

86! Wiesvaloniio []+3J‘+ ax'exisl |

Jim([l+£]r+ oot gl
m N x) x'-100x+200 BT R

(1) e’ +4 (2) e+a {3] e2+4 {4} 4

30
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87. A function y, IR = {-1,0,1} is defined by

1 0<tet

1
vyO={-1, Ssl

', otherwise

The number of points where w, is discontinuous is

ATEA IR = [-L0,1)

f

1, {}E.h:l
J 2
1
)=+-1, ==<r<l
Yy (1) 3
0, 3=

.mqﬁwﬁﬁ%lﬁﬁaﬁaﬁ#@mﬁﬁw”mﬁ%:
(1) 4 (2) 2 @ ! @ 3

d ’I &
88. The solution of the differential equation d_i =\ I_:F , given y = 0 when

x=0,1is:

1
%L,,ﬁ'ﬁl'{%y-ﬂ A x =0, & &
-K'

d
Wwi=

(1) tan'y=Xx (2) y=tm‘1"x{3]-3,1{-1.n _ 4) }r-:x

31 9.T.0.
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89. If v = sin (sin x) then

d’y 4 _
d—;*'itanx + y cos? X 1s equal 10 :

i y = sin (sin x) & @Y

d'y  dy

—_— e —— 2 :

e s tan x + y cos? x UL & :

(1) cosfsinx) (2) tanx (3) x | (4)

. Iy
90. The maximum value of [;] ,in 0<x<w,is:
] [
[;] M O<x<ew H H¥Hay o9 ¥ :

(1] e (2) [I—) (3) ¢ (4)

=
91. The value of im» — s .

ra] ntr

(1) log3 (2) log.2

(3) "1 (4] none of these

= |
li i
limd ~ & A ¥

(1) log,3 (2) log,2

@ @) A RE

32
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93.

94.

14U/ 102/ 26{iii)

T ' ':I’-‘ dx .
he value of I v cot x is :
nl d:'l'.
;!:H cot X F A E
T k3
1 5 @ 5 (3) -« () 2n

If 5. b.c are three vectors then the value of 6.'?}(5 ya)xfd+brcllis:
% 4 b.¢ o= wieer & ar E.|(E+5)><(£+E+E)]Efﬂ a= ®

(1) 0 ' 2) [ab.¢]

(3) 2[ab.é] | (@) 3[a.b.¢]

A bag contains 3 white, 3 black and 2 red balls. One by one, three
balls are drawn without replacing them. The probability that third

drawn ball is red , 18 ¢

uh AT 3 Be, 3 HET AT 2 et T TERT ¥ | UFh-U K a9 1,
ﬁmgﬁ:%ﬁaﬁ,ﬁmﬁﬂﬁtfﬁﬂ%ﬁmﬁ@ﬁa%aﬁwﬁaﬁ
TR & |

1 I 1 1
m 3 2 3 3 5 4 3

33 . P.T.O.
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96.

Il tana =3, 180° <@ < 270°,then sina is ;
. 1 |
i -1 (2) . -";—i (3) 5 (4) none of these

A tana=+3, 180° <a <270°, @ sina ¥ :

3 1
- 2 - @ 3 @ g9 | FE TE
Inany AABC,if 2 Cos A= ';— then triangle is :
{l) equilateral (2) isosceles
(3) right-angled (4) scalene

Bt a aBc ﬁ,ﬂf&ﬂﬂosﬁ=%%%ﬁﬁrﬂﬁr%:

(1) HH=Eg (2) wHfEEEg
(3) HHEH (4) RemEmg

= el '
o . {a"}n_rls a sequence such that @, =Z;;- VreN where N is the set
. . - H

of all natural numbers, then i‘_ﬂ &, 05 :

W (e}, T W oW ¥ By a.-3L.vneN, swined

TR TWearsdt &1 @y B, & lima, ¥
(1) © 2) 1 (3) e-1 (4) 2

34
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Find the equation of one line in xy — plane, which passes through the
point [3, 4) and the sum of its intercepts on the axis is 14,

xyﬁaﬁ,@ﬁmﬂmﬁméﬁﬁm,ﬁh{},ﬂﬁgﬁmﬁ%wm
gqT 99 TS a7 TUEr W AT 14 ¥

+
e
I

=1 @)

.._-|l.¢:

=1 {3) IX'*}“‘-? (4}

|

(M o+

Ly L

X

—+
6
A variable line passes through thc point of intersection of the strajght

lines i;_+ % =1 and 3 "'-';-—l and cuts the co-ordinate axis in A and B

respectively. The locus of the mid-point of AB is :
Qmarimﬁraﬁi@aﬁ—+——leﬁr ——I%iﬁﬁa%ﬁﬁ

W%Wﬁﬁ‘%ﬂﬁﬂﬁ%ﬁﬂ:ﬁﬁ?ﬁﬂﬁlﬁﬂﬁlﬁ%lﬁB
& A farg w fegay B

I_+l=_!.. l+]_=2 L+l=| 4 l+_1_':£
i g¥,5 @ 52 8 Py Ol
100.The centre of the circle x? + y* ~4x + 2y - 11 = O is .
g x2+y?-dx+2y- 11 =0 F= 8 :
(ny -2,-1 (2} (2, 1} (3) (-2, 1} 4y 2, -1)

35 P.T.0.
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Section - IV
WS- IV
Botany and Zoology
{Botany)

101, The fungus commonly known as bread mould is :

{1} Penicillium (2} . Aspergillus
(3) Rhizopus (4] Neurospora
AT AgHes A9 § A+ 99 9 $9% ©
(1) g (2) CwYTHTT
(31 EETT (@) g

102. The isogamous mode of sexual reproduction is found in :
{1] Phytophthora (2} Polysiphonia
{3) Spirogyra (4) Riccia
IS e # Rl oo et g e
(1) wrEchyer (2) GidflarEwar
(3) TFEEIHIT (4) Rirgar

103. Which one of the following microbes serves as a suitable biofertitizer
in the water-logged paddy fields?

{1} Aulosira (2} Albugo
(3) E. coli (4} Ulothrix
ﬁﬁmﬁﬁﬁaﬁq%ﬁw&wﬁﬁﬁm%@aﬂmmﬁ?
(1) SR (2) ger=gR  #
(3) Fo aicf (@)  Zefer

104.The early blight of potato is causecd by :
f1)  Fusarnium (2) Ustilage
(3) Alternaria (4) Albugo

36
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g A RN AT AT F w2

1) R (2) areiarn
(3) orEETIRar (4} ST
108.Methane is a biogenic gas produced by a member of :
(1} Eubacteria (2) Archaea
(3y Eukarya . (4) Protista
Pre o Siteafa e e oo @swr g scaiRa kRt 87
(1) sg@=Rar (2) SIRfFar
(3) IFHaET (4) gifewr
106. Which one of the photosynthetic pigments is water-soluble?
(1) - Carotenoids (2) Xanthophylls
(3) Chlorophylls | (4) Phycocyanin
fr=r # & ra-ar oF g1 Feamisy gots aet ¥ geasfie g 27
(1) HAR=s (2) S
(3) FEATES (4) wIHEEA
107.Lignin is the most important constituent in the cell wall of
(1) Parenchyma ' (2) Cambium
(3) Xylem : (4) Phloem
R sfafaRre gew fra S & ffa & 8 8 7
(1) ¥ (2) Sftemm
(3) =mEER . (4) wAEH
108. Nitrification is the process of the bacteral conversion of :
TaEiRERa ftere] ara e B oE R #
(1 NO, to NH, (2) Ny toNH,
@ NH,toN, (4} NH, to NO,.

37 B.T.0.
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109.The seed in the angiosperms develops form a the
i1} Owvule (2) Carpel (3) Embryosac (4] Anther

et & fior feg o O ety &ar & -
(1) oirgw (2) e (3) TwHEE B (4) wuT

110.The Botanical Survey of India is located at :

(1) Lucknow {2) Howrah

{3) Cuttack {4) Bhawnagar

WY @ AANF T fhw e wenfea & 2

(1) TETH (2) BEST (3] e (4) AT

111. The most important function of microtubules in the eukaryotic cells
is ta :
(1} form mitotic spindles (2} excrete cellular wastes
(3} form ribosomes (4) help in respiration

Wmmﬂqﬁﬁﬁﬁﬁmm%%
(1) =EEies affsa == o

(2) P F sUEER gEet @ e
@) R B 9 =REm @ oas=r
(4) GAEE saE § 8§ wferear

112, The protonema stage of the moss plant is a :
1) Haploid {2) Diploid (3) Triploid (4) Polyploid

rﬂﬁﬂﬁ’rtﬁaﬁqaaamawm%;

1) g 2 Rafe (3) R (4) FgRE

3s
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113. Which one of the following chemical lons holds togcther the two
-subunits of 705 nbosomes?

{1) Calcium (2) Sodium  (3) Magnesium {4 Iron

fﬁmﬂﬁaﬁa—mmﬁwmsr@?ﬁq%a‘rmﬁﬁ%m
I8 TEAT B- :

(1) Hfcmm (2) "WfETa  (3) AR (4 omsE

114. Which of the following is a non-proteinaceous enzyme?

(1] Lysozyme (2) Ribozyme
(3) Lipase ‘ (4) Taq polymerase
4§ 39 o Re-dde & ooz B 7
(1) EAeTE (2) TEEeNET
(3} A (4) % QfRs
115. 'Opium'’ is obtained from which of the following parts of the pislt-nt 2
{1} Roots {2) BSeeds
(3) Leaf-buds (4) Unripe capsules
dret & e uH W & ‘ST W B @ 7
(1} =1 4 (2) & &
(3) 9l & *Ht A (4) STUYFH Bagw &

116. Which one of the following enzymes helps in the fixation of C(jﬂ by
green plants?

(1) Urease (2) Rubisco (3) Lipase (4) Ligase "
?ﬂﬂﬁﬁquﬁwﬂm %ﬁuﬂwﬁmé\?ﬁ
7

1y R @) o Q) mh w am?m

39 ; .r_r'.'rm.
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117. Which of the following is the main cause for acid rain?

(1) Ozone depletion (2) Increased level of UV-B-
(3) Rise in green-house gas (4} High level of SO, in the
atmosphere

frea & @ B9 o e awi w1 9a &E 87
(1) o= A7 faemg

(2) UV-B @& g # g9gd

(3) T3 arsa | 9 gga

(4) SO, N TEF AT ATFHSA H

118. Which one of the following pairs is correctly matched ?

{1) Streptomyces - Penicellin

(2) Gelidium - Saprophytic

{3) Agaricus - Mushroom

{4) Azotobacter - Photosynthetic
Fr= gmt 8 93 9 gafed & 7

(1) Ty = CIEE RIS

(2) gy S aifsfes

3) FRFT = qIEH

(4) CuelgEaT - Tl

119, The haploid plants arc obtained from :

i1 Pollen (2} Zypgote

(3] Sreed germination (4]  leaf cells

#nivE A FREd g e 8 7

(1} Tt ' (2) A

(3] HAHEA HiH (4) 9= P FEER

40
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120.The erythromycin antibiotic is the killer of- _
(1) Fungi (2) Viruses (3) Eubacteria (4} Green algae

e R R R e 2
(1) a=® 2) F&m'g (3) TR (4) ] Em

121. Which one of the following endosymbionts is associated with the

corolloid root of the Cycas?
(1) Rhizobium (2) Anabaena
{3) Frankia (4) Azospirillum

ﬁﬂﬁﬁzﬁﬂqﬁmﬁmmﬂ@ﬂmﬂﬁﬁ?m
Hghew 8 7

) e (2) @R

(3) I _ 4) QoI
122. Aril is the edible part of which fruit ?

(1} Litchi (2) Mango

(3) Banana _ (4) Appie

g & & TR W ey o 8 7
{1) #reh (2) ™ (3) @A (4) 89

123. Plastocyanin is the metalloprotein that cantains :

m@ﬂmﬁﬁmm—m%mﬁwm%?

{1) -MO (2) Zn (3) Fe (4) Cu
324, Endosperms of angiosperms are
{1): Dipleids (2) Haploids
. 8 Fetroploids (4) Triplaids

41 P.T.O.
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e &1 e @ar @

(1) fafme 2) o
(3) = (4} Brfr

128.The credit of ‘Green Revolution® in India goes to :
(i) B.P. Pal {2) M. 8. Swaminathan
(3) R.P.Roy (4) P.K. Gupta '
AT H aﬁamﬁr%ﬁﬁq%ﬁwm% ?
(1) o qo gra (2) e THo w@rfATra
(3) HATo dlo (4) do Fo =

42
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(Zoology)

126. Five kingdom approach of classification was suggested by :
{1) R.H. Whittaker (2) Carolus Linnacous
i3] Casper Bauhin (4) Thomas Johnson

mﬁmﬁaﬁqﬁawq@ﬁraﬁwwm: |
(1) Y. oo, feeey & g (2) Www ffEw $ a

(3) FWT WA & & (4) @AY STEEA & O
127. Zoological name of domestic dog is !
(1) Felis indicus (2) Egquus caballus
(3) Canis familiaris (4) Canis vuipes
R HY B g AP w2
(1) #IE 35y (2) $99F HATT
(3 #fw HEfaaRE - (4) P gEE
128. Liver fluke belongs to phylum :
{1} Aschelminthes (2) Platyhelminthes
(3) Annelida i {4) Ctenophora
qga g |@a § aatud 2o
(1) TEhefe= (2) SRR
{3) oISt , (4) TATHBIT
129.Which of the fallowing is not characteristic feature of phylum
Chordata?
(1} Notochord (2) Dorsal hollow nerve cord
(3} Ventral nerve cord (4) Paired Fhaqngca] gill slits

43 ; r.T.0.



14U/102/26(il)

Frefafas 3 4 BT FSe @9 1 oo T8 ¥ 7
(1) AERd (2) T e dE¥E o9
(3) "y gy & o9 (4) T geit R

130.Which of the following is egg laying mammal?
(1) Flying fox (2) Kangaroo (3) Blue whale (4} Platypus

frefafaa & @ #rer syt 3 g T R 7

(1) TS WIEd (2) HIS (3) et 2= (4) FHETH
131. The epithelial cells found in our lung are classified as :

{1) Simple epithelium (2) Compound epithelium

(3) Squamous epithelium {4} Glandular epithelium

FATY B3 & gl S arelt wfifefrae SRt Prr ¥ @ Pr o
Tt @t At @

(1) =marRer afiferiers (2) "gFT TRty

(3) wrEm wdiferferan (4) dfee ohfafRmem
132.Excretory organs of earthworms are called :

(1} Metanephridia (2} Solenocytes

(3) Malpighian tubules (4) Green glands

(1) Ferhifea (2) TR
(3} Hediftrmm Aferand (4) W= wferr

133.Typhlosole is found in the alimentary canal of -
(1} Cockroach (2) Pigeon {3] Earthworms (4) Fish

CHEAEA, R A e o @
(1) Be=zer (2) weav @ .FgWM  (4) qmeh
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134.Which one of the muscles proteins shows cnzymatic activity?

1385.

136.

(1) Actin (2) Myosin

(3} Tropomyosin {4) Troponins

F-dt v e DO RBroas gfbgar & wafEa s 8 7
(1) o= (2) \TEfa= :

(3) TrOHEEES (4) YN

Which of the following animal cell organelles contains genetic
machinery?

{1) Lysosomes . (2) Golgi Complex

(3} Ribosomes (4) Mitochondria

Wﬁmﬁﬂ%ﬁﬁmﬁmmﬂ%ﬁm

(1) STEEEH (2) W WESRT
(3) TE=E (4) HEETERTOEAT
Removal of the terminal phosphate group from ATP provides energy

by cleaving :

(1} Glycosidic bond

(2) Phosphodiester bond’

(3) Phospheoric acid anhydride bond
{4) Phosphoric acid ester bond

ATP® BT 9T Wiede UUE B IR @ Sot s wra s
s (O

(1) gpiaiEs ao

(2) BITRSFUET &Y

(3) BrERiH I TAEEZES T4

(4) SRR I TET T4

.4 5 ’iT-I-D-
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137.The tissue that maintains the normal blood glucose level during

fasting?

(1) Skeletal muscies (2) Liver

{3] Heart _ . {4) Pancreas

4% Fa% M TR BT B IGH B SR AEA T @A § o
(1) *hepres QfETET (2) T

{3) &9 (4) ST

138. Which of the brain lobes is associated with execyutive Tunctions?
{1) Occipital lobe (2) Partetal lobe
(3} Temporal lobe (4) Frontal lobe

s w1 AT a1 Rvd geamion w1 Y aaiag & 7
(1) i Res (srgmariy fvs)

(2) Tew Ry |

[3) 20t s

4) 3y e

139.Na"-K* ATPase purﬁp i5 :
(1) an anti port ion channel (2} a symport ion channel
- (3) a ligand-gated ion channel (4) a leak channel
Na'- K’ AT Pase 97y & :
(1) 3= Fr gtrodt go At (2) 98 gwd g A
(3) =% dvT-A2T o "t (4) Ram we
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140, Which part of dpermatozoa releases enzymes needed for fertilization?
(1) Middle piece(2) Tail (3) Acrosome (4} Head

AT & | W § FiET & B3 sravas oasw g |
g2

(1) T&7 | (2) 9= (3) wEhrE (4) sfrd
141. Glucose and fructose in sucrose are linked with :

{1} pu-> 2]_ glycosidic bond (2) B0 — 4) glycosidic bond

i3] afl »4) glycosidic bond (4) &(l—»2) glycosidic bond

g | et T e Ty 7 @ R ¥
(1) B(1-2)IERTaE = (2) BQ - 4)TASHIAIEE T
{3) a{l -4 EHTafEE T (4) a(l—s2)TAEHIAEH T

142.An mRNA with a sequence 5'- UAA GAC AGG CGA UGC CUA-3' is
reverse transcribed into cDNA. Which of the following has correct
sequence of the cDNA?

% mRNA RTE® %5 5'-UAA GAC AGG CGA UGC CUA-3' Semwia
gfR cDNA & & et ¥ | Prefafrg & § 29 @1 cDNA &1 @
w7

(1) 3"-ATT CTG TCC GCT ACG GAT-5’

(2) 5’-TAG GCA TCG CCT GTC TTA-3’

(3) 3"-AUU CUG UCC GCU ACG GAT-5’

@] 5"-UAG 6CAUCG CCU GUC UUA-3"

47 - PT.0.
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143.The theory that the first form of life could have originated from pre-
" existing non living organic molecules was proposed by :
(1) Oparin and Haldane {2) Watson and Crick
(3) Stanley Miller (4) Louis Pasteur

W%mmaﬁaﬁ@aﬁﬁﬁamﬂﬁmm&ﬂﬁgﬁ,sﬂ
ez &1 wfmres Ry -

{1) o= 3T BeBw - (2) argET oY faen

(3) &= T (4) TS UTEET

144. Which one of the following is not an example of convergent evolution?
(1) Eyes of octopus and mammals
(2) Flippers of Penguins and Dolphins
{3) Limbs of man and fins of whales
(4} Wings of butter fly and birds

mﬂﬁmmmwww%?
(1) Mg ot maurd & ifg

(2) T AR =l ot g

(3) LT T B ot Ra B gy

(4) ol ol Fifedt & o

145, EcoR], a restriction enzyme, functions as :
(1) Endonuclease (2) Exonuyclease
{3) Endo peptidase (4) Esterase

Eco Rl, U%F aft@q fvas, wrf grar 2 -

Q) Tt (2) TRy
(3) T2 JweEew (4) T
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146. Malignant malaria is caused by infection of :

LS

{1} Plasmaodium vivax 2} Plasmodium malana
{3} Plasmodium falciparum . (4} Plasmodium gingivalis
Harell #Afan & dedaor @ e X
(1) SrwifEaT argdad (2) RAFIETT THART

' (3) ereifeaT ety (4} @rEiETT BT

147.81RNA standa for:

(1) Small intermediate RNA (2) Small interfering RNA
(3) Small interacting RNA 4] Small intermittent RNA
si RNA @ aread B -
(1) @Y Hezecd] RNA (2) Y FETBITT RNA
(3) g FeaETT RNA (4) ¥Y AUTAE RNA

148.The secretion of sebaceous gland is :
{r) Sweat {2) Tears . {3) Earwax (4] Sebum
qaEa O wm et §
(1) ©&e (2) 31y (3) @1 &< (4) &raH |

149. Which one the following peptides is removed during maturation of
insulin?
(1) A chain (2) Bchain ({3} C peptide {4] D peptide

F@?ﬁ%qﬁqﬁ%%ﬁqﬁrﬁaﬂﬂﬁa@wwmm
x7 .
(1) € yaew (2) @ Ager  (3) G emy ] (4] B TCES

4 9 e . P-Tnu .
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150.The interaction between two species where one species is benefited
and the other is neither benefited nor harmed is called :

{1) Mutualism (2) Commensalism
(3) Parasitism ' (4] Amensalism

<) Wl & | @1 Brar g Bed e o Oy arnfaa Sk B
T gult 7 @ w F et & ofic & geam § a6l R, A ARit

&
(1) gt (2) FHTHTHRH
(3) -9Ritfean (4) TIFTARST

S0
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Section -V
HyqevE -V
Agriculture

151, Bodo mixture is :
ilj_hmgicide (2) Pesticide ({3) Weedicide (4) Herbicide

ST Pt B
(1) HET | (2) HIEATIE
(3) WA AT9H (4) THTaES

152. Element required by plant for oil formation :
{1} Nitrogen {2} Potassium (3} Calcium (4) Sulphur

g9 fFafor $ e waat o g 9 sayasar e 2 -
(1) "W (2) arfamm  (3) e (4] TTHT

153. Percentage of oil in Castor :

St # o I AfyeE dar 2 |
(1) 52% (2) 44% (3) 62% (4) 65%

154, Percentage of nitrogen in calcium ammonium nitrate is :

Do FEIEY AEee ¥ WS &) qaed AT @ o
LAl 18% (2} 25% (3) 30% (4) 35%

158, Highest percentage of nitrogens in stool of animal :

(1] Cow {2) Elephant (3) Sheep {4y Horse
qg B e X A A awd AR g g o ¥
(1y (2) wmeh @3 % 4 A

51° P.1.0.
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156. Colour of Latente soil 15 :

{1)] Red (2) Yellow (3) Green (4) Black
ATage garedt & T g ¥
(1) &= (2 dren (3) = (4) AT

157.Which of the following are features of Indian agriculture?
{i, Disguised unemployment (I) High productivity

{11} Majority of large farmers (IV) Gambie in the hands of
Monsoon

(1}1and II (2) I and 111

{3) It and IV (4) l and IV

Fre d & a9 wdg Y & qeer 8 7

m fsft SPemh () == IRl

am =2 fEErr @t orfdremar (V) 9=gT H Fam

(n1afen (2) 11 T 1

(3) 11 SRV _ (4) 1 STV
168. The impact of Green Revolution was felt most in the case of :

(1} Wheat {2] Rice

{3) Pulses (4] Oil seeds

eRa wIffa =1 stfrsas woarg P o @ el qed ofvs R

q2T -

(1 (2) =& (3) @t (4) s
159.[n India maximum sugarcane is grown in :

(1} Madhya Pradesh (2) Tamil nadu

{31 Uttar Pradesh . (4) Maharashtra

52
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(1) a3 By (2) afwsrg (3) S Rw  (4) weOw
160.Indian Vegetable Research Institute is situated at :
(1} Bareilly (2) Kanpur ({3} Karnal (4) Varanasi
ALY MH TN TTHIE = Rag B
(1) =¥ (2) &FEYT (3) HEA (4) arererdt
161. Percentage of rice in paddy is :
g d aaa & giererr A Bl ¥
(1] 5.0 2) 7.0 (3} 8.0 {4) 9.0
162. Fungi are active in soil at pH? |
waw R Mo tgo av ufy A Framsie ey 27
{1) 5.0 (2} 7.0 (3} 8.0 {4) 9.0
163.0ptimum temperature for germination of wheat is :
M & sigher B9 & ey ofad arows §
(1] 14-16% (2) 24-26°¢ (3) 30-32°% (4) 34-36%
164, 'Kisan Khad' is Know as :
(1) Ammonium sulphate (2) Ammonium Nitrate
{3) Urea (4} Calcium Ammonium Nitrate
e ' weart ¥
(1} FFEE awhe (2) _ AT
(3 o (4) WO FHRTE e
P.T.0.
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165.Indian Pulses Research Institute is situated at :

{1} New Delhi (2) Kanpur (3) Bareilly {4) Kgrnah |

Al aeTE STHEYE = e 3 _

(1) 7% Rl (2) @EYT (3) W . (4) BT
166."Jhulsa’ disease is due to deficiency of :

i1} Zine (2) Iron (3) Copper {4) Sulphur

CFET dET ag # o FE | e @

1) & (2) = (3) e {4) GET
167.Generally U.P. soils have organic matter pf:rcf:ntagc _ ;TR

wn&ma&ft@ﬁaﬁwmﬁmmﬁmqmmg
el ®

(1) 0.1t00.3% (2) 0.3 t00.5%

(3) 0.5t00.7% (4) 0.7 6 0.9%’

168. Temperature of cold storagc for storage of potalcn thl.lld be :

AT % woeo & R Eﬁl?a’ RS H Ar9gqE S ey
{1) 10.0to 7.5% (2] 7.0to05.5%
(3] 5.0to 3.5% {4) 1.01to2:5c

189.Micronutrient essential for paddy cultivation :
(1] Molybdenum (2) Zinc
13) Copper (4) Boron

T B [ ga am oEegs o
(1) WerRTm (2)  Fofm (3) ®W (4) A
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1'70. Which crop is both leguminous and ocilseed
(1) Sunflower (2) Kusum (3) Soyabeen (4} Mustard
P J #9 @ mEs geee ot fretes @41 B
(1) g@&geE (2) FgA (3) wEEE (4) Tt

171.[n India the ratio of the population of men and animals :

Aaad ® gyedt oar ugpedt & s H U B
(1) 2:1 2) 1:2 (3) 1:3 (4) 1:4

172. Storage of semen in refrigerator is done at temperature :

AT # B arawE gt i & wosRer e o &

(1) 5°C (2) 10°C (3} 15°C (4} 20°C

173, Lactation period of Murrﬁh buffalo is :
(1) 260 days (2) 300days (3) 330 days (4] 360 days
R g w= g gy & dar &
{1) 260 RS {2) 300f&7 (3] 330R+ [4) 360 R+
174.1ndian hen on an average gave eggs :
Wi it o gf 7 1o e A B
(1) 20 (2) 40 (3) 60 "~ [4) 8C

178, The average percentage of fat in paneer is :

g & aar at Sfraeer ufwe g oo SRh B

A1) 15 (2) 20 (3) 28 {4} 35
176. Discase caused dué to deficiency of Vitamin 'B' is :

(1) Scurvy . (2) Night blindness

{3} Bern Beri (4) Rickea %

55 _ P.T.O.
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Rrefm @t a#f @ W 8 @

(1) @mel | (2) Tt
(3 =8 & (4) Ree
177.8ced rate per hectare for cauliflower is :
(1) 200 gm (2) S00gm (3) 800gm (4) 1000 gm
wa A @ i e g7 ofy e

(1) 200 7™ (2) 5007 (3) 800 ATH (4) 1000 o

178. Pungency of onion is due to :
(1) Allyle Propyl disulphide (2) Allyi propy! sulphide
{3) Carotene {4) Alicine
oot # dfraneT dhn 2o :
(1) OdEd UOEd g1E GFREsS (2) TOET NIUSE WeHEs

(3) U&= (4) ofed=

179. Consolidation of holdings as a land reforms measure failed to take
“offin : ,
(1) Punjab {2) Haryana (3) Tamil Nadu (4) U.P.

gﬁw%ﬁm%mﬁﬂaﬂﬁﬁwﬁ@rﬁwwﬁm
B IgA HE WL qS@t ?

(1) dorm= (2) ®BRmom  (3) afverg {4) IAT U

180, Vitamin present in green chilli is :
(1} Vitamin A (2) Vitamin B (3) VitaminC (4) Vitamin D
Bl el | e, amar sar B
() RefE o (2 Refw e Refm @ @) fede

56



181. Mango is fruit :

(1) Sorosis (2) Drupe (3)
T T &
(1) '@ifew (2) 3w (3)

182.Carbon percentage in raw iron is :

ear &l § e F1 afase & 2o

(1) 1.5% {2 53.5% (3}
133; Unit of work is :

(1) Kilogram _ {2]

(3)  Pound (4]

RacEc -k B

(1) Feamms (2]

(3) drre (4)

1B84.One horsepower is equivalent :
(1} 674 watt (2) 7l4%watt (3}

Eﬂw(aﬁmﬁﬂ)m&%ﬁ%;

(1) 674 are (2) 7l4@EE (3
185, Lowest part of atmosphere is :
(1} Troposphere (2}
(3} SBtratosphere | " {4)
- argoeE w1 AR Prae W R
(1) FRE (2)
@) o . (4)

57

LU J LUZ ] Z0O{11]

Berry {4) Nut
a3 4) =
5.5% (4] 7.5%
Jule
Meter Kilogram
=
Hiex etz
746 watt 4] 764 watt
746 qIE | (4) 764 d1E
Mesosphere
lonosphere
| . P.1T%O.
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186.Regional rural banks were established :

fisfra amfior ¥t A T &
(1) 1970 (2) 1975 (3) 1980 (4) 1985

187.World Bank is situated at :

(1) « Newyork (2} - Jakarta
(3) Washington D.C, (4] Tokiyo
frse ¥z Rua ¥ - |
(1) ~@mH (2) Rt
(3) wf¥rET Hodlo (4) TFa
188.0nc hectare nursery of paddy transplanting can be dene of:
(1) 10 hectare (2} 15 hectare
(3) 20 hectare : (4) 25 hectare
T PERAT AE | g & &% # Ja | A TR ¥
(1) 10 gFe™T (2) 15 &ERaY
{(3) 20zFRET (4) 25 FeGT
189, Name the State of India having average highest production of cotton :
{1} Punjab (2) Maharashtra
(3) Madhya Pradesh (4) Uttar Pradesh
Fare B e St ¥eaT I giaad # B g § oo stits 27
(1) g=a (2) WERE  (3) WG WRY  (4) IOC WRBY

190. Colour of ash of good tobacro is : _
{1} Yellow (2) Red (3) Black (4} White

Tl g e B T wew 2
(1) drew (2) (3) 4) whT
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191. Study of green aquatic thallophytes is Known as?

(1} Parasitology . (2) Phycology

(3] Mycology (4) Myology
Gﬁ;—%ﬁﬁﬁ#mﬁqﬁ&r&!%ﬂwﬁrww%?
(1) 9T-Sfifeeht | 2) rawer sega
(3} ERR FEEH (4) wra-Tsit orsamw

192, Nitrogen is present in Urea as :

(1] Amide (2) Ammonia (3) Nitrate (4] Nitrite
gfta # g e w9 A o ot & 7
(1} uHEgs (2) omifvar  (3) wEgRE (4) TrEEER

193, Dwarf varieties of wheat wer¢ intreduced in India in which year ?

s 3 et onfr @ g w om R & ¥ gon
(1 1960 (2) 1963 (3) 1970 (4) 1972

194.Eatable portion of potato is :
(1) Root {2} Stem (3) Branch (4] Flower

T W W A AT E
(1) =% (2) (3) ST (4) 9

195. Colour of Murrah bulifalo is.:
{1) Dark black : (2) Copper type
(3). Brown - ) Light Yellow

]

5 9 . P.T.o-
: O0 ) , .
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et &) w7 A B
(1) TRET T
(3) HqO

196, Origin of Jamunapan goat is :

(1) Etawah (2) Aligarh
SHHTIT FHN B g @ ¥
(1) %< (2) ST

197.NAFED is an organisation of :
(1} Nagpur crange growers

(2) National level farmers

'iz} aig A
- (4) wEr g
(3) Agra (4] Etah
@ sra @) @

(3) Marketing agency for inter-state marketing of agricultural

produces
{4) MNone of these

NAFED fr=1 § & fraa denr &% ?

(1) AT & GO ITqEHt A

(2) I W FREE @

(3) H It F T RAgvE oA W

(4) Gﬂﬂ?ﬂﬂﬁﬂﬁéqﬁ_

198. Average temperature of hen is :

T @ oia aoEw S ¥
(1) 101°F 2) 103°F

60

(3} 105°F (4) 107°F

30,000
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L]

199. Crop insurance is the monw
.

(1) National Instirance Cm

{2) General Insurance Oorporatian
{3} Life Insurance Corporatien
(4) NABARD B

e e 3 ot k
(1}, Ao gevaitee Feht (2) I FENH FIREA
(3) WS TR WET (4) ¥ (NABARD)

m rate per hectare of chilli is :
v o gy ReRac W T B
. (1) 05kg 2) 15kg 3) 30ke (4} 5.0 kg

61 . 48,008
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ROUGH WORK
TF &

62
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ROUGH WORK
6 WY

63 F.T.0.
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(¥ GR®T & VeOT AT g 9T aw Jov-u% & g gut 7
e - wt a-aye 41 @ 8 e

w7 g e & 0 fe ¥ s @ 2w & fif e i 9o s € i AR
m%‘rﬂﬁ%gfmmémﬁw&aﬁmwaﬁ;ﬁmmw—ﬁﬂmaﬂmw
YT &1 gEd it w &l
e AT § FrrT o wav-un & st fon a1 e & s gen A w
¥ 9w
ITT-TF T R A T # ;#?a?aﬁ'ah-n?ﬁwaﬁ} ZET IV~ TF T8 fodt WA
e G9T-0F @7 @ qRIET foraT AT
N S U SR-TR T EAE Y S-S W4 fuife wm i)
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T &7 81 wxl- ol arava® g el ¥vT-GiET S WS AW AE W A7 A w
o7
#to OHo HTo u¥ Gl AmAIE WO, mgmm!#zm(ﬂﬁﬁs’shm
TAYIRYE! OT FEHIE FAN Hfo e Ao W wem w1 aEat § sufiehe w5t el
wh
mm&ﬁﬁfﬁqﬁm“ﬁﬁwwmmaﬁmw oF FwT
WY W NEHT FET W@
m-mﬁmfmmtmmmﬁ#wﬁmm%mﬁmtm
e IAT-UF T WAl i & g R e g ® Iw-ua & gew yo oy i e
fren & Fgar 47 @ wr s .
TOF T & S ¥ {0y d9E UF € 9 ) M B4 0@ | w79 & me &
T IYa 0% 39 & QUi WA T 9 I A WA S
a7 & fr 0% W vt I St aaT agen 9 o wew § @i s (e v w I
7ot d1 wrd ¥, 8 warhw oiEn & arvd 24 78 ad et &t at ey & @R v g
e 152 Tt
6 Fd & for FeH-gRE & (RYS F i aren 7o aul IR & sfm ge
F WA &
TR & IWEA G9 H QW A IA-09 TOL T A W R
ol AT #4 # 9ge N Wad § Al A &l srefa A8 g
afz & sl Tl § s A = e W @, & 97 favafrrem g e
<5 @i, el ghmght)



